

8. vnitřní

$$\text{Př. 8A: } a_n := \frac{1}{n}; b_n := 0 \quad \lim_{n \rightarrow +\infty} a_n = 0 = \lim_{n \rightarrow +\infty} b_n \\ A = B$$

$$A \leq B \text{ ale } \forall n \in \mathbb{N}: a_n > b_n$$

8B: viz výše a porovnaním volí a_n a b_n

→ ani jednoho kousek nepřeladí

$$9: A \in (0, +\infty): a_n = \frac{1}{n}, b_n = n \cdot A$$

$$A = 0 \quad b_n = \sqrt{n}$$

$$A = +\infty: b_n = n^2$$

$$1. \lim_{n \rightarrow +\infty} \frac{\lg(n^2 + n)}{\lg(n^3 - 1)} = \lim_{n \rightarrow +\infty} \frac{\lg(n^2 [1 + \frac{1}{n}])}{\lg(n^3 [1 - \frac{1}{n^3}])} \\ = \lim_{n \rightarrow +\infty} \frac{\lg n^2 + \lg(1 + \frac{1}{n})}{\lg n^3 + \lg(1 - \frac{1}{n^3})} = \lim_{n \rightarrow +\infty} \frac{\lg n^2 (2 + \frac{\lg(1 + \frac{1}{n})}{\lg n})}{\lg n^3 (3 + \frac{\lg(1 - \frac{1}{n^3})}{\lg n})} \\ = \frac{2}{3}, \text{ protože } \lim_{n \rightarrow +\infty} \frac{\lg(1 + \frac{1}{n})}{\lg n} = 0 \text{ a } \lim_{n \rightarrow +\infty} \frac{\lg(1 - \frac{1}{n^3})}{\lg n} = 0$$

(např. $\sum_{n=1}^{+\infty} \lg(1 + \frac{1}{n})$; $\sum_{n=2}^{+\infty} \lg(1 - \frac{1}{n^3})$ jsou uzavřené

$$\text{a } \frac{1}{\lg n} \xrightarrow{n \rightarrow +\infty} 0)$$

$$2. \lim_{n \rightarrow +\infty} \frac{\lg(n^2 + 3^n)}{\lg(1+n+e^{2n})} = \lim_{n \rightarrow +\infty} \frac{\lg(3^n (\frac{n^2}{3^n} + 1))}{\lg(e^{2n} (\frac{1}{e^{2n}} + \frac{n}{e^{2n}} + 1))}$$

$$= \lim_{n \rightarrow +\infty} \frac{n \lg 3 + \lg(1 + \frac{n^2}{3^n})}{n \lg e^2 + \lg(1 + \frac{1}{e^{2n}} + \frac{n}{e^{2n}})} = \boxed{\begin{array}{l} \lg \dots \text{ p\u00ednsen\u00e1 log} \\ \lg e^2 = 2 \lg e = 2 \end{array}}$$

$$= \lim_{n \rightarrow +\infty} \frac{n(\lg 3 + \frac{\lg(1 + \frac{n^2}{3^n})}{n})}{n(2 + \frac{\lg(1 + \frac{1}{e^{2n}} + \frac{n}{e^{2n}})}{n})} = \frac{\lg 3}{2}, \text{ p\u00ednsen\u00e1}$$

$\{\lg(1 + \frac{n^2}{3^n})\}$ a $\{\lg(1 + \frac{1}{e^{2n}} + \frac{n}{e^{2n}})\}$ jsou men\u00e9 a

$$\frac{1}{n} \xrightarrow{n \rightarrow +\infty} 0 \text{ a tedy } \lim_{n \rightarrow +\infty} \frac{\lg(1 + \frac{n^2}{3^n})}{n} = 0 \text{ a}$$

$$\lim_{n \rightarrow +\infty} \frac{\lg(1 + \frac{1}{e^{2n}} + \frac{n}{e^{2n}})}{n} = 0.$$

$$3. \lim_{n \rightarrow +\infty} \frac{\sqrt{n + \sin^2 n} - \sqrt{n - \cos^2 n}}{\sqrt{n+1} - \sqrt{n-1}} =$$

$$\lim_{n \rightarrow +\infty} \frac{n + \sin^2 n - n + \cos^2 n}{n+1 - n+1} \cdot \frac{\sqrt{n+1} + \sqrt{n-1}}{\sqrt{n + \sin^2 n} + \sqrt{n - \cos^2 n}} =$$

$$= \frac{1}{2}$$

$$\lim_{n \rightarrow +\infty} \frac{1}{2} \frac{\sqrt{n} (\sqrt{1 + \frac{1}{n}} + \sqrt{1 - \frac{1}{n}})}{\sqrt{n} (\sqrt{1 + \frac{\sin^2 n}{n}} + \sqrt{1 - \frac{\cos^2 n}{n}})} = \frac{1}{2}$$

4.

$$\lim_{n \rightarrow +\infty} \sqrt[n]{\sqrt{3^n + 2 \cdot 2^n} - \sqrt{3^n + 2^n}} = \lim_{n \rightarrow +\infty} \sqrt[n]{\frac{3^n + 2 \cdot 2^n - 3^n - 2^n}{\sqrt{3^n + 2 \cdot 2^n} + \sqrt{3^n + 2^n}}}$$

$$= \lim_{n \rightarrow +\infty} \sqrt[n]{\frac{2^n}{\sqrt{3^n} \left(\sqrt{1 + 2 \frac{2^n}{3^n}} + \sqrt{1 + \frac{2^n}{3^n}} \right)}} =$$

$$\lim_{n \rightarrow +\infty} \frac{2}{\sqrt{3}} \sqrt[n]{\frac{1}{\sqrt{1 + 2 \frac{2^n}{3^n}} + \sqrt{1 + \frac{2^n}{3^n}}}} = \frac{2}{\sqrt{3}}, \text{ putre}$$

$$\sqrt[n]{\frac{1}{\sqrt{3} + \sqrt{2}}} \leq \sqrt[n]{\frac{1}{\sqrt{1 + 2 \frac{2^n}{3^n}} + \sqrt{1 + \frac{2^n}{3^n}}}} \leq \sqrt[n]{\frac{1}{2}}$$

$\downarrow n \rightarrow +\infty$
 1

$\downarrow n \rightarrow +\infty$
 1

5. Trik: Rozklad na parciální zlomky

$$\sum_{k=1}^n \frac{1}{k(k+1)} = \sum_{k=1}^n \left(\frac{1}{k} - \frac{1}{k+1} \right) = 1 - \underbrace{\frac{1}{2} + \frac{1}{2}}_{=0} - \underbrace{\frac{1}{3} + \frac{1}{3}}_{=0} - \underbrace{\frac{1}{n}}_{=0} - \frac{1}{n+1}$$

$$= 1 - \frac{1}{n+1}$$

Tedy $\lim_{n \rightarrow +\infty} \sum_{k=1}^n \frac{1}{k(k+1)} = 1 + 0 = 1$

6. $1 - \frac{1}{n^2} = \frac{n^2 - 1}{n^2}$

6.

$$\left(1 - \frac{1}{2^2}\right) \left(1 - \frac{1}{3^2}\right) \cdots \left(1 - \frac{1}{(n-1)^2}\right) \cdot \left(1 - \frac{1}{n^2}\right) =$$

$$= \frac{(2-1)(2+1)(3-1)(3+1)\cdots(n-2)(n+1)(n-1)(n+1)}{2^2 \cdot 2 \cdot 3 \cdot 3 \cdots (n-1)(n-1) \cdot n \cdot n}$$

$$= \frac{1}{2} \cdot \left(\frac{n+1}{n}\right) \xrightarrow{n \rightarrow +\infty} \frac{1}{2}$$